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Note: Answer all question. All Question carry equal marks.

FPE—1 Unit-1

1(3) NiR® adas | Y a1 Fus &7
What do you mean by partial derivatives?

@ TTHUTG AR §RT 71 &1 A1 o fore—
Find the value of following applying log table ?
246.3xV/32.93
(1.237)2
ar OR
(3 SPas vd fiktes @ AR o g9smza?

Explain the Ideas maxima and minima

@ YD ARON HT YAWT BB AT ST BIT—

Evaluate with log table

(36.71)x(0.8246)+546
FH1E—-2 Unit-11
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There are two family X and Y, there are 3Men 2 women and 3 children in family X and 4Men
3Women and 1 child in family Y. The recommended quality for Calories and protein are as follow:

Calories Protein
Men 2400 50 gm.
Women 1900 40 gm.
Child 1600 30 gm.
T ST B 3MegE B w9 A fARad | aegg UM a1 WA 3R e RaR R Aavas Seld aun
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Represent the above data in the from of matrix using multiplication calculate the necessary
quantity of calories and protein for the each family
I™Ear OR
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Solve the determination by Saru's rule.

13 16 19
14 17 20
15 18 21

FBE—3 Unit-III
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What is Linear programming? Explain its main characteristics and importance.
3rerar OR
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31500 /— B 1 9 < FHARGN & a4 59 PR |

The monthly salary of the three employees is in the ratio 3:5:8 If the monthly salary of the
junior most employees is Rs. 31500 than find and the salary of other employee.
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4(3) YRMRd 7 wyle @ R 10 9 B fIY 5000 . SER B AN =T ek uRe 2 a¥ @ RIw 3%
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Purohit borrowed Rs 5000 for 10 year at compound interest. The rate of interest were 3% for the
first 2 year, 3.5% for the next three year and 4% for the last 3 year. Find the amount?
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What is the Practically utility of present worth?

Fgar OR

()  \ERYT AW R SR A1 T BIE HT wd F 2640 ®. 7 5 qut F 3000 ®. 8§ O & | e
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A Sum of certain rate present per sum in a simple interest becomes Rs. 2640 in 2 year and Rs.
3000 in 5 year. Find the principal amount and rate of interest.

THE-5 Unit-V

S(3) T o A weel @ ud R 30 ®. 9T B Rem@ A, TR M 14406 9 B Rem Q¥ wn AR
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Visitors to a show ware charge Rs. 30 each on the fist day. Rs. 14.40 each on the second day and
Rs. 5 each on the third day. If the total attendance an these days were in the ratio 1:5:12 then find the
Average charges per visitors for the three days likes together

(3 P I3 Ufa¥ 10% T R W Hed g0 W E o o £ ot WY 9§ s s9er I
131,220 . 81 & I3 I AT §G QP
The depreciation rate of a machine is 10% per amount. If there 4 year the value of the
machine in Rs. 1,31,220 there find the cast of the machine.
3e@r OR

() 20 I¥GRI B pa Yo 25 TG D BY [ D WA 2, A T B 9IS PoNe?
The selling price of 20 articles is equal to the cost price of 25 articles. Find out the percentage of
profit and loss .

(}) TP SR Bl 240 § T W B FT 1/3 AN AN 8N HY G IR A 1 widerd s A0 |
By selling a tyre for Rs. 240 the seller gain 1/3 of the cost price. Find the cost price and gain
percent.



